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HIGH POWER SWITCHING APPLICATIONS

HAMMER DRIVE, PULSE MOTOR DRIVE APPLICATIONS

e High DC Current Gain
: hpg=2000 (Min.) (Vog=3V, Ic=34)

® Low Saturation Voltage
: VCE (sat)=1.5V (Max.) (Ic=3A)

® Zener Diode Included Between Collector and Base.

® Unclamped Inductive Load Energy : E=150mdJ (Min.)
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CHARACTERISTIC SYMBOL | RATING | UNIT
Collector-Base Voltage VCBO 60t10 v
Collector-Emitter Voltage VCEO 60110 \4
Emitter-Base Voltage VEBO 7 v
Collector Current P]?lise igP Z A
Base Current Ip 0.5 A
Collector Power Ta=25°C P 2.0 W
Dissipation Te=25°C C 30
Junction Temperature T; 150 °C
Storage Temperature Range Tstg —55~150 °C

EQUIVALENT CIRCUIT

COLLECTOR

Weight : 1.7g (Typ.)




ELECTRICAL CHARACTERISTICS (Ta =25°C)

CHARACTERISTIC SYMBOL TEST CONDITION MIN. | TYP. | MAX. | UNIT
Collector Cut-off Current IcBO Vep=45V, Ig=0 — — 10| #A
Collector Cut-off Current IcEO VeE=45V, Ig=0 — — 10| nA
Emitter Cut-off Current IEBO VEB=6V, Ic=0 — — 25| mA
Collector-Base Breakdown _ _

Voltage V (BR)CBO |Ic=1mA, Ig=0 50 60 70| V
Collector-Emitter Breakdown
Voltage V (BR) CEO |Ic=10mA, Ig=0 50 | 60 70| V

) hrg 1) |Ver=3V, Ig=3A 2000 | — | 15000
DC Current Gain hFE(2) | VCE=3V, I0=5A 000 | — —
Collector-Emitter Saturation |VCE (sat) (1)|Ic=3A, Ig=6mA —_ 1.1 1.5 v
Voltage VCE (sat) (2)| Ic=5A, Ig=20mA — | 13 2.5
Base-Emitter Saturation
Voltage VBE (sat) |Ic=3A, Ig=6mA — 1.7 25 V

1 I ive L
Unclamped Inductive Load Es/B (Note 1) 150 | — . mJ
Energy
. OUTPUT

Turn-on Time ton Ig1 i . 1 — 1.0 —
Switching .
Time Storage Time tste — 4.0 — J78

Fall Time tf Ig1=-Igg=6mA,  VCC — |25 | —

DUTY CYCLE=1% =30V

(Note 1) Measurement circuit of unclamped inductive load energy.
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(Note 2) (O Pulse width adjusted for desired Icp (Icp=5.47A MIN.)
@ E=1/2 L Icp?
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